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Dense
input: K

[relu, tanh, 
sigmoid]

Dense
[2048, 4096, 

8192]

[relu, tanh, 
sigmoid]

[relu, tanh, 
sigmoid]

[relu, tanh, 
sigmoid]

Dense
output: 𝑛𝑛 − 1… …

число слоев = 
[0,1,2,3,4,5,6,7,8,9,10]

входной 
слой

первый 
скрытый

средний 
скрытый

последний 
скрытый

выходной 
слой

Dense
[1024, 2048, 

4096]

Dropout
[0., 0.15, 0.30, 

0.45]

Dropout
[0., 0.15, 0.30, 

0.45]

Dropout
[0., 0.15, 0.30, 

0.45]

Dropout
[0., 0.15, 0.30, 

0.45]

learning_rate = [0.01, 0.005, 0.001, 
0.0005, 0.0001, 0.00005, 0.00001]

Dense
[2048, 4096, 

8192]




